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(i) =it e arfard € |
(ii) 9o HHIG 1 ¥ 5 T IS TR & U 2 |
(iii) ue9 wHid 6 § 23 F NdR® fawed fay MU 2|
Instructions :

(1) All questions are compulsory.
(11) Question numbers 1 to 5 are objective type questions.
(111) Internal options have been given in question numbers 6 to 23.
e fame e fafay -
(i) HCF (91,21) =&

1x6=6

(a) 91 (b) 21
(c) 13 (d) 7
(ii) SR e x + 2y +5=0 3R —3x — 6y + 1 = 0 &1 g BFT—
(a) sfedm &a (b) # &t
(¢) aria: o &a (d) = &
(iii) fgama sgue ax? + bx + ¢ & YDl BT ARTHSA BRT—
(@) 2 OF
© 7 (d) =
(iv) feamd Ffaxwr x2 — 4x + 4 = 0 & fAfdadamx &1 919 BT
(a) 4 (b) 2
()0 (d) 1
(v) g0 & bt fawg o) el 7 <ol @il o dear gnfi-
(a) 1 (b) 2
(c) 3 (d) 0
(vi) a5 (0,5) wd (—5,0) & 9= &1 0 3—
(a) 5 (b) 5v2
(c) 2v5 (d) 2



Choose the correct option and write it:

() HCF (91,21) is —

(a) 91 (b) 21
(c) 13 (d) 7

(ii) The pair of equation x + 2y +5=0 and -3x -6y + 1 =0 has -
(a) Unique Solution (b) has no solution
(¢) Infinitely many solutions (d) two Solution

(iii) The Sum of the zeros of quadratic Polynomial ax? + bx + ¢ will be-

(@) 2 (b) 5
(©) = (d) =
(iv) The discriminant of the quadratic equation x? — 4x + 4 = 0 is-
(a) 4 (b) 2
(c) 0 (@) 1
(v) Number of tangents drawn at a point on circle
(a) 1 (b) 2
(c) 3 (d) 0
(vi) The distance between the point (0,5) and (-5, 0) is-
(a) 5 (b) 5vV2
(c) 2v5 (d) 2
R Tl @1 gt #ife 1x6=6
(i) e 98UR B oo TRD B |
(ii) shermard 3 ve g3 ufoorfed fear N &@ & w9 H SET ST &
(iii) wwiax oot 5,10,15 ... &7 10df Ug ... =
(i) T st FAwy B 2 |
(v) v& f¥ea gear & miedar ... Bl 2
(vi) 331 r arel 9 & 8TBA BT T oo =
Fill in the blanks :
() . Zeros will be in a cubic polynomial.

(ii) Shridharacharya derived a formula now known as the ..................

(iii) The 10" term of A.P. 5,10,15... iS......c.vn......
(iv) All ............... Triangles are similar.

(v) The Probability of a certain eventis...........

(vi) Formula of area of the circle of radius ris ...................



3 SEESISIBEEIENE 1x6=6

gug I’ gug ‘g’
(i) sin?A + cos?A (a) 5
(ii) tan (90" — A) (b) a3
(iii) 5sec?A — 5tan?A (c) Ibh
(iv) o9 &1 3MIaH (d) 1
(v) o &1 eFhe (e) 0
(vi) P(E) + P(E) &1 5191 @1 8 ()9
(g) cotA
(h) a?
(i) cosA
M1
Match the correct column :
Section ‘A’ Section ‘B’
(i) sin®A + cos?*A (a) 5
(ii) tan (90" — A) (b) a3
(iii) 5sec?A — 5tan?A (c) lbh
(iv) Volume of a cuboid (d) 1
(v) Area of square (e) 0
(vi) What will be the value of P(E) + P(E) ()9
(g) cotA
(h) a?
(i) cosA
M1
4 UAS BT TP I /A9 § I oIy - 1x6=6
(1) gIat @1 we ol |
S - N . -

(ii) waffre IRERAT I T RIT HEATT & 2

(iii) 5 TR 2oft & oM n U=t &1 AT 9 B BT GF faRau |
(iv) S~ BIo7 B g foaRay |

(v) el Y@t &R g & WA fawg &7 @ @Ed € 2

(vi) ¥ig & T &1 G IRy |



Write the answer in one word/sentence of each :
(i) Find the number of zeros.

\"'\"f’ B N

(i) Wr\iat is the class of maximum frequency is called.
(iii) Write the formula to find the sum of the first n terms of an A.P.
(iv) Write the definition of angle of elevation.

(v) What is called the common point of the tangent and the circle?
(vi) Write the formula for the volume of a cone.

frrafoRed & /s faRag : 1x6=6
(i) wAfaR 2o 10,7,4, ... &1 109t 95 —17 2|

(ii) FA®U Sl BT &9he Had a_IeR Bl = |

(iii) st @1 & BeH 3@ ¢ |

. . 4
(iv) St @1 s = S mr® &

~ - 0
(v) DU O a1l FRRIvS & WG AU Pl oTHEIg = o0 % 2mr

(vi) 1 FFEY PRSI BT FIa Yoy AUl 8kl © |

Write True/False in the following:

(i) 10" term of the A.P. 10,7,4, ... is —17

(ii) The areas of similar triangles are always equal.
(iii) The tangent line is the secant line.

(iv) The Volume of hemisphere is = gnr3

(v) Length of an arc of a sector of angle 6 = % X 2nr
(vi) The corresponding sides of two similar triangles are proportional.

140 &1 Mg UFRITST & UFHS & wa H Fad B | 2
Express 140 as a product of its prime factors.
aierar/ OR

HCF(306,657) = 9 faar 21 LCM(306,657) smd AR |
Given that HCF(306,657) = 9, find LCM(306,657)

4u? 4+ 8u & D SN BINY | 2
Find the zeros of 4u? + 8u
arrar/ OR
agus 15x2% + 12x + 7 & DT BT [OHHe ST B |
Find the Product of zeros of polynomial 15x2 + 12x + 7




5x—4y+8=0
7x+6y—9=0
On Comparing the ratio %,% and 5—1 find out whether the lines representing the following
2

2 2
pair of linear equations intersect at a point are parallel or coincident.

5x —4y+8=0
7x+6y—9=0

srerar/ OR
R TSI T DI &l DT |
x+y=14
x—y=4%
Solve the pair of linear equations.
x+y=14
x—y=4
9 iR Al (A.P.) & vM IR ug foifay et oM ug a = 10 T |r@siark d = 10
= 2
Write first four terms of an A.P. whose first term is a = 10 and common difference is
d = 10.
arerar/ OR
TR ot —5,—1,3,7 .... BT YIH Ug TAT AGATR S BIFOTT |
Find the first term and common difference of A.P.: —5,—1,3,7 ....
10 <7 Prpoll & Gawudl @ oy sawds yfady faRag | 2
Write the necessary conditions for the similarity of two triangle
arrar/ OR
T YT BT HI foRau |
Write the statement of Thales theorem.
11 fa=gaii P(2,3) 3R Q(4,1) & 9= &1 0 oa Bl | 2

Find the distance between points P(2,3) and Q(4,1).

s/ OR
x IRy & dg # e Gy venfda s @ifes fag (x, ), famget (7,1) @ik (3,5) &
AR & |

Find a relation between x and y such that the point (x, y), is equidistant from the points
(7,1) and (3,5).

12 fa=aif (a,b) 3R (—a,—b) &1 77 fag sma HIRT | 2

5



Find the mid point of the points (a, b) and (—a, —b).

arrar/ OR
% farg & Frferie i ST o frgelt (=1, 7) R (4, —3) @ fiem 9t YEETe B
2:3 & Ut ® o awar 2|
Find the coordinates of the point which divides the line segment joining the points (—1,7)
and (4, —3) in the ratio 2:3.

13 aﬁsinAzz,aTcosAsﬁ'\ftanAiﬁrﬂﬁtrﬁ‘cﬁ%ﬁaﬂﬁml 2
If sind = z, then find the value of cosA and tanA
arerar / OR

e AHBIT st ABC 3 RS/ ST B 99aIvl €, Afe tand = 1, a1 d1iud sifsiy fd

2sinA.cosA =1
In a right angle triangle ABC, right angled at B,if tanA = 1, then verify that
2sinA.cosA =1

14 5 9. o ot Uh ga & farg P Wit X@r PQ dvw 0 ¥ S arel U Y 9 fag
Q R 9 YBR el € f6 0Q = 12 I | PQ & oIF T8 10 HIfoTY | 2
A tangent PQ at a point P of a circle of radius 5cm.meets a line through the centre O at a
point Q so that 0Q = 12c¢m. Find the length of PQ
arrar/ OR
U6 g A9 S Tdh 9d & = 4 5cm §I W B, IO W W @ P o915 dem &1 g
@ B g Hfeg |

The length of the tangent from a point A at a distance of 5 cm. from the center of a circle,
to the circle is 4 cm. find the radius of the circle.

15 6cm B3rur ael T 99 B Ud FISURITS BT S5thel ST BINTY e bror 6072 | 2
Find the area of a sector of a circle with radius 6 cm. if angle of the sector
is 60°.
arrar/ OR

Th gl & QAT BT &bl S DY et gk 22 J9. g |

Find the area of a quadrant of a circle whose circumference is 22 cm.

16 U% 9N & Udh dR B+ UR ST AT 31 Bl UTRIGT ST ST | 2
A die is thrown once. Find the probability of getting a prime number.
siegrar/ OR
T fed # 5 ffel, 8 §%a 3R 4 & Hd ¢ | 39 & § ¥ UP Sl Ag=adT NIl Sl 2 |
AHE BT BT & Ufdbar S BTy |
A box contains 5 red, 8 white and 4 green marbles. one marble is taken out of the box
random. Find the probability of getting a white marble.

17 afc P(E) = 0.05 2 ar ‘E 981 ' & uii¥ddr &1 & ? 2
If P(E) = 0.05, then what is the probability of E not.
arrar/ OR

TP I B TP IR Bh- R 8T A7 M &Y UTAddr ST HIfTg |



A die is thrown once. then Find the probability of getting an odd number.
18 =gy b 3v2 v suRkdy < 2 | 3
Show that 312 is an irrational number.
arrar/ OR
Sia @Y 6 Far fedl wraa d@m n & forg, dwr 6™ o 0 R WA 8 Hadl g |

Check whether 6™ can end with the digit 0 for any natural number n

19 fgaa afiexe 2x2 —3x +5 =0 & ol $I UG ST BN | 3
Find the nature of roots of the quadratic equation 2x?2 —3x+ 5 =0
arrar/ OR
fgema Ffe<or 6x% —x — 2 =0 & ol B UGqiT A1 BT |
Find the nature of roots of the quadratic equation 6x2 —x —2 =0

20 <7 EAl RH @ RS BT 3maad 64m3 R, & Ao\ oAbl B Hee b SN I9RIT STl
2| 39T U TN BT YT S A%el S BIfoT | 3
Two cubes each of volume 64m? are joined end to end. Find the surface
area of the resulting cuboid

arrar/ OR
U SR T gl IR T T G & ATHR &l 3, fod! B 1em € dor oigg &l
TS IqP! 3T & SRR 8| 39 S BT A[AT T B Ual H ST BT |

A solid is in the shape of a cone standing on a hemisphere with both their radii being
equal to1 cm and the height of the cone is equal to its radius. Find the volume of this
solid in terms of T

21 <1 AR & faX 26 ¥ SR UH AT SR GEdT @l AF AT 8| S S BIRT | 4

The difference of two numbers is 26 and one number is three times the other number.
Find them.

arrar/ OR
IRgH FHABT T BT &l HITOTT |

3x—5y—4=0
9x =2y +7
Solve the pair of linear equations.
3x—5y—4=0
9x =2y +7
22 Rl W UP IR FEER TS| & | &Rall & UP Ul fag 9, Sl 49R & ure fag 9§ 15m

R, AR & RreR &1 S~ @17 60° 81 AR &1 Sare sid B | 4

A tower is standing vertically on the ground. From a point on the ground, which is 15m
away from the foot of the tower, the angle of elevation of the top of the tower is found
60°. Find the height of the tower.



arerar/ OR
TMSHA Y99 b RRER W U dadd ek & BRIK BT II9 dIT 60°% IR s9S Ul &I

JATAT BT 45°% | SR BT HaTs A HIY |
From the top of a 7 m high building, the angle of elevation of the top of a cable tower is 60° and
the angle of depression of its foot is 45°. Determine the height of the tower.

23 fa=falRaa aroft 35 TR @) AreRar & @faerd #) S 8 | ARy @Rl &)

=TT DI | 4
_ 45 —55 55 —-65 65—75|75—-85| 85—-95
ATERAT &% (Ffrerd #H)
_ _ 3 10 11 8 3
TIRI BT =T
The following table gives the literacy rate (in percentage) of 35 cities, Find the mean
literacy rate
45 —55 55 —-65 65—75|75—85| 85—-95
Literacy rate (in %)
3 10 11 8 3
Number of cities
gerar/ OR

fferRaa sifes 225 fastell Suawel & Uferd Sftas &Il (Svei ) &1 ga-1 <d & Sl
P GgAD SHITDTA ST BTy |

S &Ted (Bvel |9 — 20| 20—40 [ 40— 60 | 60 —80 | 80 — 100 | 100 — 120
#)
IR 10 35 52 61 38 29

The following data gives the information on the observed life times (in hours) of 225
electrical components. Determine the mode lifetimes of the components.

Life times (in 0-20 20-40 40 - 60 60 — 80 80-100 100 —-120
hours)
frequency 10 35 52 61 38 29




